C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 32+3= 2) 52 =
- - 1.
2.
3.
3 52+2= 4) 27+4 = 4
5.
6.
7.
5 890+8 = 6) 114+2 =
8.
9.
10.
) 47+2 = 8 936-9=
11.
12.
9 228+9= 10) 48+2 =
11) 1293 = 12) 47+8=
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 32+3= 10r2 2) 56:2= 28 1072
- 1.
2 28
3. 26
3 52:2= 26 4 27+4= 613 4 6r3
5. 111r2
6 57
7 23rl
5 890+8= 11112 6) 114+2= 57
8. 104
9. 2513
10. 24
) 47+2= 23rl 8 036+9= 104 13
- - 11.
12. 5r7
9 228+9= 2513 10) 48+2= 24
11) 129+3= 43 12) 47+8= 517
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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